VIDYASAGAR UNIVERSITY

Question Paper

B.Sc. General Examinations 2022
(Under CBCS Pattern)

Semester - IV

Subject: CHEMISTRY
Paper : SEC 2-T

Full Marks : 40
Time : 2 Hours

Candiates are required to give their answer in their own
words as far as practicable.
The figures in the margin indicate full marks.

(Intellectual property right)

Answer any four questions from Group A and #we questions from Group B.

Group - A
‘Intellectual properties need to be protected’ Explain with example. 5
Write short note on GATT and TRIP. 5
What are trade secrets? Explain the determination of trade secret status. 5
Discuss briefly about examination process in trade mark registration. 5

Define geographical indications. Write down the importance of geographical indications
in Indian context. 5

Write down the process of international design registration. 5
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Group-B
Explain the functions of international intellectual property organizations. Define the uses
of acquisition of trademark rights. 5+5
Write the procedure for trademark registration. 10
Define copy right. Discuss national IPR policy of India. 2+8
Write down the need and significance of intellectual property right protection for a
industrial design. 10
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Paper : SEC 2-T
Full Marks : 25 Time : 2 Hours
Analytical Clinical Biochemistry
(Theory)
Group - A
Answer any two questions : 5x2=10
1. (a) Whatare nucleosides and nucleotides ? Give an example of each.
(b) Whatis DNA replication ? (3+2)
2. (a) WhatisRhesus factor ? How is it related to fetal erythroblastosis ?
(b) What is anaemia ? Briefly outline the different types of anaemia. (3+2)

3. (a) Name the five classes of steroid hormones. Give one example of each and briefly outline
their biological functions.

(b) Briefly describe denaturation of proteins. (3+2)

Group - B
Answer any one question : 15x1=15
4. (a) Define the terms coenzyme and prosthetic group.
(b) Discuss ‘induced fit theory’ of enzyme action.
(c) Derive Michaelis - Menten equation.
(d) Define Michaelis constant (K, ) and briefly describe its physical significance.

(e) Foranenzyme catalytic reaction a Lineweaver-Burk plot gave the following data : slope
=40 sec, intercept =4 x 10~ mol™' dm’ sec. If the initial concentration of enzyme [E] =
2.5 x 10 mol dm™, what is the turn over number of the reaction ? (2+3+4+3+3)

5. (a) Draw the configurations of D-glucose, D-mannose and D-galactose. What are configu-
rational relationship between D-glucose and D-mannose ?

(b) What is mutarotation ? Give example.
(¢) Sucrose does not reduce Tollens’ reagent but glucose and fructose do. Explain.

(d) Mechanistically explain the conversion of glucose-6-phosphate to fructose-6-phosphate
in glycolysis or EMP pathway.

(e) Briefly describe what glycated haemoglobin (HbA 1 C) test is and how it can help to
detect the onset of diabetes mellitus. (3+2+3+4+3)
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